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public class A%}

{
private String HZHEHS = "123-45-567890";  //&Ad(BIH{EH %)
private String H|LHS = "1234"
private long til = 1000;
private float O|& = 6.02F,
public void Y25tCHlong Z°H) /M| M E(R 34
{
2 = k. + FoH
}
public void &Z6CHlong 2) { Rk = k1 - ZH; }
public long Z3|5ICH) { return Rt }
public void O| &7 (float MO|-&) { O|& = Ao|& }
}
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import java.lang.*
class A{
protected static int kor:
protected static int eng:
public void set(int k, int e){
kor = k:
eng = e
}
}
class B extends A{
private int sum;
public int add(){
sum = kor + eng:
return sum.
}
}
class C extends A{
private float avg:
public float average(){
avg = (kor + eng) / 2f;
return avg:
}
}

public class Test{
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public static void main(String args[]){

A a
Bb
Cc

new A();
new B()
new C();

a.set(70, 90):

System.out.printin(b.add()) 6
System.out.printin(c.average()) 80

}
}
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